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    <Cell ss:StyleID="s28"><Data ss:Type="String">loading next level</Data></Cell>
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    <Cell ss:StyleID="s28"><Data ss:Type="String">GoToTheMercHeadq  </Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Find the Mercenary Camp</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Найдите лагерь наемников</Data></Cell>
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    <Cell ss:StyleID="s28"><Data ss:Type="String">BlowUpTheArmory   </Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Blow up the armory to create a 
diversion</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Взорвите арсенал, чтобы отвлечь внимание 
наемников</Data></Cell>
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    <Cell ss:StyleID="s28"><Data ss:Type="String">GetAVehicleAndHe  </Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Steal a  vehicle and head West to the 
Pier</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Украдите машину и отправляйтесь к пирсу 
(на запад)</Data></Cell>
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    <Cell ss:StyleID="s28"><Data ss:Type="String">GetRidOfAllEnemi  </Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Eliminate all enemies in this 
area</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Уничтожьте всех противников в этой 
местности</Data></Cell>
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    <Cell ss:StyleID="s28"><Data ss:Type="String">HeadToThePierToT  </Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Head West to the Pier</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Направляйтесь к пирсу (на 
запад)</Data></Cell>
   </Row>
   <Row>
    <Cell ss:StyleID="s28"><Data ss:Type="String">NewObjective      </Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">New Objective</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Новое задание</Data></Cell>
   </Row>
   <Row>
    <Cell ss:StyleID="s28"><Data ss:Type="String">GoToTheEndOfTheP  </Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Meet Дойл at the end of the 
Pier</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Встретьтесь с Дойлом в конце 
пирса</Data></Cell>
   </Row>
   <Row>
    <Cell ss:StyleID="s28"><Data ss:Type="String">pull_lever</Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Press USE to pull the lever</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Нажмите кнопку 'Действие', чтобы 
повернуть рычаг</Data></Cell>
   </Row>
   <Row>
    <Cell ss:StyleID="s28"><Data ss:Type="String">insert_keycard</Data></Cell>



    <Cell ss:StyleID="s28"><Data ss:Type="String">Press USE to insert keycard</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Нажмите кнопку 'Действие', чтобы вставить
карточку</Data></Cell>
   </Row>
   <Row>
    <Cell ss:StyleID="s28"><Data ss:Type="String">move_elevator_down</Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Press USE to move elevator 
down</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Нажмите кнопку 'Действие', чтобы лифт 
поехал вниз</Data></Cell>
   </Row>
   <Row>
    <Cell ss:StyleID="s28"><Data ss:Type="String">call_elevator</Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Press USE to call the elevator</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Нажмите кнопку 'Действие', чтобы вызвать 
лифт</Data></Cell>
   </Row>
   <Row>
    <Cell ss:StyleID="s28"><Data ss:Type="String">move_elevator_up</Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Press USE to move elevator up</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Нажмите кнопку 'Действие', чтобы лифт 
поехал вверх</Data></Cell>
   </Row>
   <Row>
    <Cell ss:StyleID="s28"><Data ss:Type="String">plant_explosives_here</Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">Press USE to plant explosives 
here</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Нажмите кнопку 'Действие', чтобы 
заложить взрывчатку</Data></Cell>
   </Row>
   <Row>
    <Cell ss:StyleID="s28"><Data ss:Type="String">you_need_a</Data></Cell>
    <Cell ss:StyleID="s28"><Data ss:Type="String">You need a key to open this 
door</Data></Cell>
    <Cell ss:StyleID="s29"><Data ss:Type="String">Чтобы открыть дверь, вам понадобится 
ключ</Data></Cell>
   </Row>
   <Row ss:Index="22" ss:StyleID="s30">
    <Cell><Data ss:Type="String">For Foreign Subtitles</Data></Cell>
    <Cell ss:Index="3" ss:StyleID="s31"/>
    <Cell ss:StyleID="s32"/>
   </Row>
   <Row ss:StyleID="s30">
    <Cell ss:StyleID="s33"><Data ss:Type="String">Key</Data></Cell>
    <Cell ss:StyleID="s33"><Data ss:Type="String">English</Data></Cell>
    <Cell ss:StyleID="s34"><Data ss:Type="String">Foreign (on screen subtitles)</Data></Cell>
    <Cell ss:StyleID="s35"><Data ss:Type="String">Character name</Data></Cell>
   </Row>
   <Row ss:AutoFitHeight="0" ss:Height="64.5">
    <Cell ss:StyleID="s36"><Data ss:Type="String">pier_specific_A_1</Data></Cell>
    <Cell ss:StyleID="s37"><Data ss:Type="String">$5Дойл: The communication network is down.
It’ll take hours for them to restore their systems to normal.\nUntil they do, you should be able to 



move around much more easily.\nI’m on a tight beam to you, so our communication will remain 
unaffected.  </Data></Cell>
    <Cell ss:StyleID="s37"><Data ss:Type="String">$5Дойл: Теперь связь на островах не 
работает. Чтобы ее восстановить, им потребуется несколько часов.\nНу, а пока тебе можно 
будет перемещаться посвободнее.\n Кстати, на нашей связи взрыв никак не 
отразился.</Data></Cell>
    <Cell ss:StyleID="s38"/>
    <Cell ss:Index="7" ss:StyleID="s22"/>
   </Row>
   <Row ss:AutoFitHeight="0" ss:Height="51.75" ss:StyleID="s39">
    <Cell ss:StyleID="s42"><Data ss:Type="String">pier_specific_A_3</Data></Cell>
    <Cell ss:StyleID="s43"><Data ss:Type="String">$5Дойл: I'll meet you at the pier on the far side
of the island. It's important I don't compromise my cover, so you'll have to secure the area 
first.\n&#10;$6Джек: Right.</Data></Cell>
    <Cell ss:StyleID="s43"><Data ss:Type="String">$5Дойл: Жду тебя на пирсе с дальней 
стороны острова. Важно, чтобы меня не раскрыли, так что тебе придется зачистить этот 
район.\n&#10;$6Джек: Понял.</Data></Cell>
    <Cell ss:StyleID="s44"/>
    <Cell ss:Index="7" ss:StyleID="s40"/>
   </Row>
   <Row ss:AutoFitHeight="0" ss:Height="13.5">
    <Cell ss:StyleID="s45"/>
    <Cell ss:StyleID="s36"/>
    <Cell ss:StyleID="s36"/>
    <Cell ss:StyleID="s46"/>
    <Cell ss:Index="7" ss:StyleID="s22"/>
   </Row>
   <Row ss:AutoFitHeight="0" ss:Height="64.5" ss:StyleID="s39">
    <Cell ss:StyleID="s42"><Data ss:Type="String">pier_specific_B_1</Data></Cell>
    <Cell ss:StyleID="s47"><Data ss:Type="String">$5Дойл: The mercs sometimes use hangliders 
to get around the islands. You do know how to fly a glider, don't you?\n&#10;$6Джек: No, but I 
learn real fast when people are shooting at me.</Data></Cell>
    <Cell ss:StyleID="s47"><Data ss:Type="String">$5Дойл: Для обзора местности наемники 
иногда используют дельтапланы. Ты ведь тоже умеешь на них летать, правда?\n&#10;$6Джек:
Нет, но я быстро учусь, когда по мне начинают стрелять.</Data></Cell>
    <Cell ss:StyleID="s44"/>
    <Cell ss:Index="7" ss:StyleID="s40"/>
   </Row>
   <Row ss:AutoFitHeight="0" ss:Height="13.5">
    <Cell ss:StyleID="s45"/>
    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s46"/>
    <Cell ss:Index="7" ss:StyleID="s22"/>
   </Row>
   <Row ss:AutoFitHeight="0" ss:Height="115.5" ss:StyleID="s39">
    <Cell ss:StyleID="s42"><Data ss:Type="String">pier_specific_C_1</Data></Cell>
    <Cell ss:StyleID="s47"><Data ss:Type="String">$5Дойл: Okay, it looks like they're pretty 
excited about the damage to the communications tower. They're running around like you kicked 
over their anthill.\nI'm heading in, but I need a diversion. Here's an idea  - why don't you blow up 
the armory in their camp.\nThat should create enough of a distraction for me to slip 
through.\n&#10;$6Джек: So you're telling me to blow something up to divert their attention from 



the other thing I blew up. Brilliant.</Data></Cell>
    <Cell ss:StyleID="s47"><Data ss:Type="String">$5Дойл: Хорошо. Они, похоже, засуетились 
после того, как ты разрушил башню центра связи.\nЯ направляюсь к тебе, но надо совершить
еще одну диверсию. Взорви их арсенал в лагере.\nЭто усилит неразбериху, и я смогу 
проскользнуть.\n&#10;$6Джек: Предлагаешь устроить новую диверсию для того, чтобы 
отвлечь их внимание от первой? Очень умно.</Data></Cell>
    <Cell ss:StyleID="s44"/>
    <Cell ss:Index="7" ss:StyleID="s40"/>
   </Row>
   <Row ss:AutoFitHeight="0" ss:Height="13.5">
    <Cell ss:StyleID="s45"/>
    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s46"/>
    <Cell ss:Index="7" ss:StyleID="s22"/>
   </Row>
   <Row ss:AutoFitHeight="0" ss:Height="64.5">
    <Cell ss:StyleID="s48"><Data ss:Type="String">pier_specific_D_1</Data></Cell>
    <Cell ss:StyleID="s47"><Data ss:Type="String">$5Дойл: Well, that seems to have worked just 
fine. Radio traffic in the area is frantic. Now's your chance.\nTake a vehicle if you can, and get to 
the pier. I'm on my way to you now.\n&#10;$6Джек: Oh, joy.</Data></Cell>
    <Cell ss:StyleID="s47"><Data ss:Type="String">$5Дойл: Все вышло так, как надо. В радио 
диапазоне полный бардак. Пора действовать.\nОтправляйся на пирс. Если сможешь, возьми 
машину. Я уже в пути.\n&#10;$6Джек: Окей.</Data></Cell>
    <Cell ss:StyleID="s49"/>
    <Cell ss:Index="7" ss:StyleID="s50"/>
   </Row>
   <Row ss:AutoFitHeight="0" ss:Height="13.5">
    <Cell ss:StyleID="s36"/>
    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s46"/>
    <Cell ss:Index="7" ss:StyleID="s22"/>
   </Row>
   <Row ss:AutoFitHeight="0" ss:Height="51.75">
    <Cell ss:StyleID="s48"><Data ss:Type="String">pier_specific_E_1</Data></Cell>
    <Cell ss:StyleID="s47"><Data ss:Type="String">$5Дойл: You should be approaching the pier 
shortly. As soon as you secure the area, I'll pick you up.\n&#10;$6Джек: Right.</Data></Cell>
    <Cell ss:StyleID="s47"><Data ss:Type="String">$5Дойл: Ты на подходе к пирсу. Как только 
зачистишь территорию поблизости, я подберу тебя.\n&#10;$6Джек: Понял.</Data></Cell>
    <Cell ss:StyleID="s49"/>
    <Cell ss:Index="7" ss:StyleID="s50"/>
   </Row>
   <Row>
    <Cell ss:StyleID="s36"/>
    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s51"/>
    <Cell ss:StyleID="s46"/>
    <Cell ss:Index="7" ss:StyleID="s22"/>
   </Row>
   <Row>
    <Cell ss:StyleID="s36"/>



    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s51"/>
    <Cell ss:StyleID="s46"/>
    <Cell ss:Index="7" ss:StyleID="s22"/>
   </Row>
   <Row>
    <Cell ss:StyleID="s36"/>
    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s21"/>
    <Cell ss:StyleID="s46"/>
    <Cell ss:Index="7" ss:StyleID="s22"/>
   </Row>
   <Row>
    <Cell ss:StyleID="s36"/>
    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s51"/>
    <Cell ss:StyleID="s46"/>
    <Cell ss:Index="7" ss:StyleID="s22"/>
   </Row>
   <Row>
    <Cell ss:StyleID="s36"/>
    <Cell ss:StyleID="s37"/>
    <Cell ss:StyleID="s21"/>
    <Cell ss:StyleID="s46"/>
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